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%" Which statement matches the group below
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" | 4 equal group with 7 in each group

z.% equal group with 8 in each group

__J 3 equal group with 6 1n each group
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BE equal group with 6 1n each group

6 equal group with 5 in each group
__J 5 equal group with 4 1n each group
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)4 equal group with 5 1n each group
3 equal group with 4 in each group
4 equal group with 4 1n each group
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[ ] Groups of [ 5 ] equal

< (9 ] Groups of [ ] equal
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Write the correct answer

OOR ACADEM

8+8+8 =24> 5+6=©>
3 groups of 8 = 24> 2 groups of 6 = ©>
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Match it

< Six 6s

<I'hree 6s

<Two 3s

Five 4s

<Four 2s
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%’ Circle the correct answer
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. ) & & ¢ * W W 6x4
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%’ Fill in the blanks to describe the model
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3 groupswith 6  oranges each.
__ Total number of oranges are 18 . Y
(0eeee(00eee s000d (0000

pentagons each.

groups with

\_ Total number of pentagons are J
(aaafassfasafsnaana

_____ groups with cakes each.

Total number of cakes are

K —_—— e —
_____groupswith butterflies each.
Lk Total number of butterflies are = . /J
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